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　　　　　　（含ギ）pk（岳＋vk・▽）Tk一一（驚ぎ）Tkσk（岳＋vk・▽）πk

　　　　　　　　　1　　　。　　　　　　　　　　　●　　　　　　rπδσ）k〔（πσ）k＋112（qk　一q＊k）＋（πσ）k－112（q＊k－qk－1／2）〕一Ck

where

　　　　　　（書ギ）・・一（課）…（宅ぎ）T・一（諦、＊）T・

The　thermodynamic　energy　equation　is，from（1．11），

　　　　　　　∂　　　　　　　　1　　　∂
　　　　　　（研＋Vk●▽）Tk＝一蕊αk瓜（翫＋Vk●▽）πk

　　　　　　　　　1　　　●　　　　〈　　　　　　　●　　　　　　＾　　　　　　一　　　　〔（πσ）k＋1／2（Pkθk＋112－Tk）十（πσ）k＿1／2（Tk－Pkθk＿112）〕
　　　　　　　（πδσ）k

　　　　　　　十Ck

whereα≡cpθ（∂p／∂π）／σandσ≡（p－pI）／π．Eqs．（6．4）and（6．6）give

　　　　　　q＝1＋よ（喜ギ）匪｛〔（蕃h＋鋒（書癌〕峨（農＋殊●▽）職

　　　　　　　　∂q＊　　　Pk　　　　●　　　　　＾　　　　　　　　　　●　　　　　　　　〈
　　　　　　『（∂T）pk（πδσ）k〔（πσ）k＋112（θk＋・12一＆）＋（πσ）k－1／2（θk一θk－1／2）〕

　　　　　　　　　1　　　●　　　　　　　　　　　　●
　　　　　　＋（πδσ）k〔（πσ）k＋1／2（奄k＋1／2－q＊k）＋（πσ）k－112（q＊k－qk－1／2）〕／

Substituting（6．7）into（6．6），we　obtain

　　　　　　　∂　　　　　　　∂T　　∂　　　　　　　　　1　　　　　1　×
　　　　　　（∂t＋vk●▽）Tk＝（∂P）mk（研＋vk●▽）πk『　L∂q＊（πδσ）k

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　1＋罵（∂T）Pk

　　　　　　　　　　　　　　　　　　●　　　　　＾　　　　　　L
　　　　　　　　　　　　　　　　｛（πσ）k＋112〔Pk（θk＋112一θk）十一（qk＋1／2－q＊k）〕

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　Cp

　　　　　　　　　　　　　　　　　●　　　　　　＾　　　L
　　　　　　　　　　　　　　十（πσ）k＿1／2〔Pk（θk一θk＿1／2）十一（q＊k－qk＿1／2）〕｝

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　Cp

where

　　　　　　　　　　　　　αk　L∂q＊
　　　　　　（書否）m、≡』幣

　　　　　　　　　　　　　　1＋可（∂T）Pk

　　　The　coefficient　of（πσ）k＋1／2in（6．8）is

一52一

（6．4）

（6．5）

（6．6）

（6．7）

（6．8）

（6．9）



　　　　　　　　　　　　　　　　　　　　　Tech．Rep．MeteoroL　Res．Inst．No．131984

　　　　　　　　　＾　　　　　　L
　　　　　　　Pk（θk＋112一θk）＋一（qk＋1／2－q＊k）

　　　　　　　　　　　　　　　　　　　Cp

　　　　　　　　　1　　＾　　　　　　　　　　　　　　　　　　〈
　　　　　　　二馬〔（cpTk＋1／2＋φk＋1／2＋Lqk＋1／2HcpTk＋φk＋Lq＊k）〕

　　　　　　　　　1＾
　　　　　　　＝一（hk＋・ノ2－h＊k）　　　　　　　　　　　　　　　　（6．10）
　　　　　　　　Cp

where（1・13）and（L14）and　the　definition　of　h　have　been　used．Similarly，the　coefficient　of

（πσ）k＿112in（6．8）is

　　　　　　　1　　　　＾
　　　　　　　一〔（h＊k－hk－1／2）〕　　　　　　　　　　　　　　　　（6．11）
　　　　　　　Cp

Thus（6．8）can　be　written　as

　　　　　　　　∂　　　　　　　　∂T　　∂
　　　　　　　（翫＋Vk●▽）Tk＝（∂P）mk（翫＋Vk●▽）πk

　　　　　　　－　1　（π詣）k〔（πあk＋112（hk＋・ノ2－hp＊）＋（πあk一・ノ2（宜k一・ノ2）〕　（6・・2）

　　　　　　　　　c．＋L（含ギ），k

The　choice　of　q（or　equivalently，h）at　lhe　levels　remains　to　be　specified．

6．2　Vertical　interpolation　of　moist皿e　an｛r℃ICK”

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
　　　From（6。12）it　is　clear　that　a　negative（πσ）k＋1／2has　a　warming　effect　for　hk＋1，2＞h＊k．This

may　occur　even　when　h＊k＋1＜h＊k，that　is，when　no　conditional　instability　exists　between　the

integer　levels　k十1and　k．The　same　effect　can　similarly　ocuur　for　a　negative（πσ）k－1／2when

h＊k＞hk－1／2，even　when　h＊k〈h＊k－1．Any　moist　convective　instability　produced　by　such　a

warming　effect　is　the　result　merely　of　a　poor　choice　of　qk＋1／2．This　type　of　computational

instability　is　termed　as　the璽てconditional　instability　of　computational　kind”（CICK）．See　AM

for　details．

　　　The　CICK　can　be　avoided　if　the　choice　of　qk＋112and　thus　Hk＋1／2．satisfies　the　followiog

requirements　when　h＊k＋1＜h＊k：

　　　　　　　hk＋1／2＜h＊k　　when　rk二1　　　’　　　　　　　　　　　　　　　　　　　　　　　（6．13）

and

　　　　　　　h＊k＋1＜Hk＋1／2　　when　rk＋1＝1　　　　　　　　　　　　　　　　　　　　　　　　（6．14）

where　rk　is　the　relative　humidity　of　the　level　k，given　by

　　　　　　　rk＝qk／q＊k　　　　　　　　　　　　　　　　　　　（6。15）
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　　　Let　us　write　hk＋112as

　　　　　　　hk＋1／2≡§k＋1／2十Lqk＋112

　　　　　　　　　　　＝§k＋112十Lfk＋1／2q＊k＋112

　　　　　　　　　　　＝§k＋1／2十？k＋112（h＊k＋112一§k＋1／2）

　　　　　　　　　　　＝（1－fk＋112）§k＋112十fk＋112h＊k＋1／2　　　　　　　　　　　　　　　　　　　　　　　　　　　　　（6。16）

where　fk＋112is　a　properly　defined　relative　humidity　at　level　k十1／2，and

　　　　　　　§k＋112≡cpTk＋、12十φk＋112　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　（6．17）

Substitutions　of（6．16）into（6．13）and（6．14）give

　　　　　　　（1－fk＋1／2）§k＋112十fk＋112h＊k＋112＜h＊k　when　rk＝1

and　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　（6．18）

　　　　　　　h＊k＋1＜（1－fk＋1／2）§k＋112十fk＋112h＊k＋1／2　when　rk＋1＝1

SupPose　that　h＊k＋112is　an　interpolation　of　h＊from　the　level　k　and　k十1to　the　level　k十1／2that

guarantees　h＊k＋1＜h＊k＋112＜h＊k　if　h＊k＋1＜h＊k．If　we　choose　fk＋1／2二1when　either　rk＝10r

rk＋1＝1，the　inequalities（6．18）are　satisfied，ragardless　of　the　actual　form　of　the　interpolation

for　h＊k＋112under　the　condition　h＊k＋1＜h＊k．The　form　given　below　satisfies　the　above

requirement．

　　　　　　　　　　　＿rk＋rk＋r2rkrk＋、
　　　　　　　fk＋、12一　　　　　　　　　　　　　　　　　　　　　　　　（6．19）　　　　　　　　　　　　　　　2－rk－rk＋1

（When　both　rk　and　rk＋1are　l，？k＋1／2is　set　to1）．

　　　The　form　of　the　interpolation　used　to　obtain　h＊is　important，however，in　relation　to　the

interpolation　chosen　for§k＋112．Since

　　　　　　　h＊k二Lq＊k十Sk　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　（6．20）

an　interpolation　for　h＊k＋1／2independent　of　for§k＋112could　in　theory　allow　the　implicit

generation　of　a　negative　q＊k＋、ノ2．To　avoid　this，the　interpolation　for　n＊k＋1／2is　chosen

proportional　to　that　for　sk＋1：

　　　　　　　h＊k＋1／2－h＊k二典（§k＋1／2－sk）

　　　　　　　h＊k＋1－h＊k＋112二A（sk＋1一§k＋1／2）　　　　　　　　　　　　　　　　　　　　　　（6．12）

and

　　　　　　　A≡h＊k＋1－h＊k　　　　　　　　　　　（6．22）
　　　　　　　　　　　Sk＋1－Sk

Recall　that（1．12）and（1．13）give

　　　　　　　§k＋1／2－sk＝pkcp（θk＋112一θk）

　　　　　　　sk＋1一§k＋112＝Pk＋1cp（θk＋1一θk＋112）　　　　　　　　　　　　　　　　　　　　　　　　　　　．（6．23）

Then　we　obtain
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　　　　　　　sk＋rsk＝pkcp（θk＋1／2一θk）＋pk＋1cp（θk＋1一θk＋1／2）　　　　　　　　　（6．24）

which　determines　the　denominator　of（6．22）．Eq．（6．16）gives

　　　　　　　　　　　　　　　　　　　1　　　＾
　　　　　　　qcicK≡qk＋・12＝τfk＋112（h＊k＋・12一§k＋1／2）　　　　　　　　　（6・25）

　　　Ther6is　no　reason　to　choose　this　q，howver，if　condensation　processes　are　not　involved．

For　the　relatively　dry　case，it　is　more　important　to　guarantee　that　q　remains　positive　or　zero．

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　1
The　simple　arithmetic　averge，qk＋112＝一（qk十qk＋1）is　not　a　good　choice，Because，if　qk二〇，
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　2

　　　　　　　　　　　　　
qk＋1〉O　and（π切k＋1／2＞0，then　downward　current　removes　a　positive　amomt　from　zero，

Presumably，the　application　of（1．20）to　water　vapor　mixing　ratio　is　a　better　choice　for　the

relatively　dry　case．It　is　given　by

　　　　　　　　　＿＾　　　　　1nqk－1nqk＋1

　　　　　　　qln－qk＋・12二1／qk＋1－1／qk　　　　　　　　　　（626）

In　fact，with　that　choice，qk＋1／2is　zero　when　either　qk＋10r　qk　is　zero．

　　　In　the　present　mode1，the　following　formula　is　used　as　a　compromise．

　　　　　　　qk＋1／2二fk＋1／2qclcK十（1一？k＋112）qln　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　（6．27）

6．3　Vertical　differencing　of　the　ozone　equation

　　　The　ozone　equation　does　not　have　the　difficulty　such　as　CICK　mentiond　in　the　previous

section．We　simply　adopt　the　vertical　interpolation（1．20）for　ozone　mixing　ratio．

　　　　　　　6・k＋1・・一8i継畿　　　　　　　 （628）

where　O3is　the　mixing　ratio　of　ozone．The　vertical　differencing　scheme　for　ozone　is　the　same

as（6．2）except　that－Ck　term　is　replaced　by　the　souce　term　of　ozone　due　to　photochemical

processes　described　in　Chapter12．

6．4　Horizontal　differencing

　　　The　finite　horizontal　differencing　schemes　for　both　moisture　and　ozone　are　the　same　in

the　MRI・GCM－1．In　the　following　only　the　scheme　for　moisture　is　shown．

　　　Using　eqs．（3．1）through（3．4），㌻he　horizontal　flux　term　of　the　moisture　equation（6．1）can

be　written　as

∂
厩（箱・jqi・j）＝『Fi＋112・」⇔i＋1／2・j＋Fi－112・jqi一・12・j

　　　　　　　　　　　　　　　　　　－Gi，j＋1／2qi，j＋1／2十Gi，j－1／2qi，j＿1／2　　　　　　　　　　　　　　　　　　　　　（6．29）
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　　　　　　　　　　　　　　　　　　十〇ther　terms

The　q　is　defined　by　the　arithmetic　average，for　example，

　　　　　　　　　　　　　　1

　　　　　　　qi＋112・j二7（qi・j＋qi＋1・」）　　　　　　　　　　　　（6・30）

The　difficulty，which　comes　from　the　existence　of　the　lower　limit　of　q（that　is，q＝0），also

exists　in　the　horizontal　differencing．Therefore，a　is　defined　as

　　　　　　　＾　　　　　2qi，jqi＋1，3

　　　　　　　q’＋1／2・」＝qi，」＋qi＋1，j　　　　　　　　　　　　　（6・31）

when　Fi＋112，j＞O　and　qi，j＜qi＋1，j　or　Fi＋112，」＜O　and　qi，j＞qi＋1，」．Note　that　this　form　is　formally

derived　from（12）if　we　choose　G（x）＝1／x。Otherwise，eq．（6．30）is　used　in　the　present　model．

qi－1／2，j，qi，3＋112and⇔i，j－1／2are　defined　in　a　similar　way．
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